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1. Answer the fOIIowmg questlons (wnthm 50
words each) ; o - 2x4=8
(a) What do You mean by. false paradigm ?
(b) What is Poverty gap ?

(€) Write the demerits of unbalanced growth
©  theory.

(d) State eﬂdogenous growth theory.
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2. Answer the following questions (within 150

words each) :

(a)
(b)
(c)

(@)

(a)

(b)

(c)

(d)
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Write a short note on Gehder Inequality
Index.

Discuss the fourth and fifth Rostow’s stages

of economic growth.

Is Harrod-Domar model applicable td solve
the problems of U.D.Cs ? Explain,

Write a short note on market imperfection of
vicious circle of poverty.

Briefly answer any fwo of the following
~ questions :

10%2=20

What is economic inequality ? Explain
different methods of measuring inequality.
2+8=10

Briefly discuss Kaldor’s theory of distribution
and growth. '

Critically discuss the Big-Push theory.

Explain Neo-Colonial dependénce model.

S5x4=20

4. Answer the following questions *

1G))

16x2=32

Critically discuss the Harrod model of

economic growth. Give the similarities and
dissimilarities between Harrod's and Domar’s

model of economic growth. . 1076=16

Or

Discuss unlimited supply of labour and dual
economy of Fei and Ranis Theory.

(b) Critically ex'plam the rural-urban migratién
of Harris-Todaro model-
Or
Write a short notes on : 8+8=16
(i) HDI
(i) PQLL "ﬁ
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2. Answer the followmg queStlons (Wlthm 150

‘words each) :

(a)

®)

©

d)

@

®)

(@

Write a short note on Gender Inequality
Index

‘Discuss the fourth and ﬁfth Rostow’s stages
of economic growth.

Is Harrod-Domar model aI’pllcable to solve -

the problems of U.D.Cs ? Explain,

Write a short note on market imperfection of
vicious circle of poverty.

Briefly answer any Iwo of the following
q 'ons )

10x2=20

What is economic inequality 9 Explain
dlfferent methods of measuring inequality.

2+8=10

Bneﬂy discuss Kaldor’s theory of dlstributxon
and growth ‘

Cnncaﬂy discuss the Blg-Push theory

Explam Neo-Colonial dependence model
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§x4=20

4. Answer the following questions °

(a)

®)

dissimilarities between

. 16x2=32

Critically discuss the Harrod model of

economic growth. Give the similarities and
Harrod’s and Domar’s
model of economic groWth | IM:I.‘S

A _Or.
Discuss unlimited supp!¥ °f labour and dual
economy of Fej and Ranis Theory.

Critically explam the rural- urban mlgmtlon
of Harris-Todaro model-

. Or |
Write a short notes on
@ HD]
(ﬁ) PQLL

8+8=16
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